J. Appl. Math. & Informatics Vol. 41(2023), No. 4, pp. 821 - 829 https://doi.org/10.14317/jami.2023.821

# ON CHARACTERIZATIONS OF THE CONTINUOUS DISTRIBUTIONS BY INDEPENDENT PROPERTY OF THE DIFFERENCE-TYPE *k*-TH LOWER RECORD VALUES

#### HYUN-WOO JIN

ABSTRACT. In this paper, we obtain characterizations of continuous distributions based on the independent property of generalized record values extending the characterization results reported by Jin and Lee [4], Skřivánková and Juhás [8]. Also, example of special cases of general classes as Bur types, Pareto, power and Weibull distribution are discussed.

AMS Mathematics Subject Classification : 60E05, 62E10, 62H10. *Key words and phrases* : Independent property, generalized lower record values, continuous distributions.

### 1. Introduction

Record values are found in many situations of daily life as well as in many statistical applications. Also, we are often interested in observing new records and in recording them. For this reason, several continuous distributions have been characterized through the some properties of record values and generalized record values in literature. For example, several continuous distributions based on record values were extensively studied by many authors and such results are available in Skřivánková and Juhás [8], Khan and Faizan [6], Paul [7] and Jin and Lee [5].

Now some notations and definitions. Let  $\{X_n, n \ge 1\}$  be a sequence of independent identically distributed (i.i.d.) random variables with cumulative distribution function (cdf) F(x) and probability density function (pdf) f(x). The *j*-th order statistic of a sample  $(X_1, X_2, \dots, X_n)$  is denoted by  $X_{j:n}$ . For a fixed positive integer k, Dziubdziela and Kopociński [3] defined the sequences  $\{L^{(k)}(n), n \ge 1\}$  of k-th lower record times of  $\{X_n, n \ge 1\}$  as follows :

 $L^{(k)}(1) = 1,$ 

Received December 15, 2022. Revised April 26, 2023. Accepted April 28, 2023. © 2023 KSCAM.

Hyun-Woo Jin

$$L^{(k)}(n+1) = \min\{j > L^{(k)}(n) : X_{k:L^{(k)}(n)+k-1} > X_{k:j+k-1}\}.$$

The sequences  $\{Y_n^{(k)}, n \ge 1\}$  with  $Y_n^{(k)} = X_{k:L^{(k)}(n)+k-1}, n = 1, 2, \cdots$ , are called the sequences of k-th lower record values of  $\{X_n, n \ge 1\}$ . For convenience, we shall also take  $Y_0^{(k)} = 0$ . Note that k = 1 we have  $Y_n^{(1)} = X_{L(n)}, n \ge 1$ , which are record value of  $\{X_n, n \ge 1\}$ . Moreover  $Y_1^{(k)} = X_{k:k} = max\{X_1, X_2, \cdots, X_k\}$ . For more details and references, see Ahsanullah et al. [2].

Let  $\{Y_n^{(k)}, n \ge 1\}$  be the sequence of k-th lower record values. Then the probability density function of  $Y_n^{(k)}, n \ge 1$  is given by

$$f_{Y_n^{(k)}}(x) = \frac{k^n}{\Gamma(n)} (H(x))^{n-1} (F(x))^{k-1} f(x), \ x > 0, \tag{1}$$

and the joint pdf of  $Y_m^{(k)}$  and  $Y_n^{(k)}$  for  $1 \le m < n$  and n > 2 is given by

$$f_{Y_m^{(k)},Y_n^{(k)}}(x,y) = \frac{k^n}{\Gamma(m)\Gamma(n-m)} (H(x))^{m-1} \cdot (H(y) - H(x))^{n-m-1} (F(y))^{k-1} \frac{f(x)}{F(x)} f(y), \ y < x,$$
(2)

where H(x) = -ln(F(x)).

In this paper we have extended the results of Jin and Lee [4], Skřivánková and Juhás [8] and characterized the various continuous distributions using independent property of generalized lower record values.

## 2. Characterization of distributions $F(x) = exp(-e^{-g(x)})$

For proving our Theorem 2.2, we need the following Lemma 2.1.

**Lemma 2.1.** Let  $\{X_n, n \ge 1\}$  be a sequence of independent and identically distributed random variables each distributed identically with an absolutely continuous cdf F(x) and pdf f(x) on the support  $(\alpha, \beta)$ , where  $\alpha$  and  $\beta$  may be finite or infinite. Let g(x) be an increasing and differentiable function with  $g(x) \to 0$  as  $x \to 0, g(x) \to -\infty$  as  $x \to \alpha^+$  and  $g(x) \to \infty$  as  $x \to \beta^-$  for all  $x \in (\alpha, \beta)$ . Suppose that  $\frac{H(g^{-1}(u+v))}{H(g^{-1}(v))} = q(u, v)$  and  $h(u, v) = (q(u, v))^{m-1} (1 - q(u, v))^{n-m-1} \times \frac{\partial}{\partial u} (q(u, v))$ , for  $1 \le m < n$ , where  $h(u, v) \ne 0$  and  $\frac{\partial}{\partial u} (q(u, v)) \ne 0$  for any positive u and v. If h(u, v) is independent of v, then q(u, v) is a function of uonly.

*Proof.* Let

$$h(u,v) = (q(u,v))^{m-1} (1 - q(u,v))^{n-m-1} \times \frac{\partial}{\partial u} (q(u,v))$$
$$= \sum_{j=0}^{\infty} (-1)^j \binom{n-m-1}{j} (q(u,v))^{j+m-1} \times \frac{\partial}{\partial u} (q(u,v)).$$
(3)

Since h(u, v) is independent of v, we obtain

$$h(u,v) = \sum_{j=0}^{\infty} (-1)^j \binom{n-m-1}{j} \left(q(u,v)\right)^{j+m-1} \times \frac{\partial}{\partial u} \left(q(u,v)\right) = t(u).$$
(4)

Integrating (4) with respect to u, we get

$$\int h(u,v)du = \sum_{j=0}^{\infty} \frac{(-1)^j}{(j+m)} \binom{n-m-1}{j} (q(u,v))^{j+m} \frac{\partial}{\partial u} (q(u,v))$$

$$= \int t(u)du + c = T(u).$$
(5)

Here T is a function of u only and c is independent of u but may depend on v.

Now taking  $u \to 0$ ,  $q(u, v) \to 1$ , we have c independently of v from (5). Differentiating (5) with respect to v, we get

$$\frac{\partial}{\partial v} (T(u)) = \sum_{j=0}^{\infty} (-1)^j {\binom{n-m-1}{j}} (q(u,v))^{j+m-1} \times \frac{\partial}{\partial v} (q(u,v))$$

$$= t(u) \left(\frac{\partial}{\partial u} (q(u,v))\right)^{-1} \left(\frac{\partial}{\partial v} (q(u,v))\right) = 0.$$
(6)

Now we know  $t(u) \neq 0$  and  $\frac{\partial}{\partial u}q(u,v) \neq 0$ , so we must have

$$\frac{\partial}{\partial v} (q(u,v)) = 0. \tag{7}$$

Hence q(u, v) is a function of u only. This completes the proof.

**Theorem 2.2.** Let  $\{X_n, n \ge 1\}$  be a sequence of independent and identically distributed random variables each distributed identically with an absolutely continuous cdf F(x) and pdf f(x) on the support  $(\alpha, \beta)$ , where  $\alpha$  and  $\beta$  may be finite or infinite. Let g(x) be an increasing and differentiable function with  $g(x) \to 0$  as  $x \to 0$ ,  $g(x) \to -\infty$  as  $x \to \alpha^+$  and  $g(x) \to \infty$  as  $x \to \beta^$ for all  $x \in (\alpha, \beta)$ . Then  $F(x) = \exp(-e^{-g(x)})$  for all  $-\infty < g(x) < \infty$ , if and only if  $g(X_{L(m)}^{(k)}) - g(X_{L(n)}^{(k)})$  and  $g(X_{L(n)}^{(k)})$  are independent for  $1 \le m < n$ .

*Proof.* If  $F(x) = exp(-e^{-g(x)})$ , then it is easy to see that  $g(X_{L(m)}^{(k)}) - g(X_{L(n)}^{(k)})$ and  $g(X_{L(n)}^{(k)})$  are independent for  $1 \le m < n$ . So we have to prove the converse.

Let us use the transformation  $U = g(X_{L(m)}^{(k)}) - g(X_{L(n)}^{(k)})$  and  $V = g(X_{L(n)}^{(k)})$ . The Jacobian of the transformation is  $J = \frac{\partial}{\partial u} (g^{-1}(u)) \cdot \frac{\partial}{\partial v} (g^{-1}(u+v))$ . Since g(x) is an increasing and differentiable function, both  $\frac{\partial}{\partial u} (g^{-1}(u))$  and  $\frac{\partial}{\partial v} (g^{-1}(u+v))$  are positive. Thus we can write the joint pdf  $f_{U,V}(u,v)$  of U and V as Hyun-Woo Jin

$$f_{U,V}(u,v) = \frac{k^n}{\Gamma(m)\Gamma(n-m)} \left( H(g^{-1}(u+v)) \right)^{m-1} h(g^{-1}(u+v)) f(g^{-1}(v)) \cdot [F(g^{-1}(v))]^{k-1} \left( H(g^{-1}(v)) - H(g^{-1}(u+v)) \right)^{n-m-1}$$
(8)  
$$\cdot \frac{\partial}{\partial v} (g^{-1}(v)) \frac{\partial}{\partial u} (g^{-1}(u+v))$$

for all  $-\infty < v < \infty$  and u > 0, where H(x) = -lnF(x) and  $h(x) = -\frac{d}{dx}H(x)$ . The pdf  $f_V(v)$  of V is given by

$$f_V(v) = \frac{k^n H(g^{-1}(v))^{n-1}}{\Gamma(n)} f(g^{-1}(v)) \frac{\partial}{\partial v} (g^{-1}(v)) [F(g^{-1}(v))]^{k-1}$$
(9)

for all  $-\infty < v < \infty$  and  $m \ge 1$ .

From (8) and (9), we can get the conditional pdf of  $f_U(u|v)$  as

$$f_U(u|v) = c \cdot \frac{\left(H(g^{-1}(u+v))\right)^{m-1} \left(H(g^{-1}(v)) - H(g^{-1}(u+v))\right)^{n-m-1}}{H(g^{-1}(v))^{n-1}}$$
(10)  
$$\cdot h(g^{-1}(u+v)) \frac{\partial}{\partial u} (g^{-1}(u+v))$$

for all  $-\infty < v < \infty$  and u > 0, where  $c = \frac{\Gamma(n)}{\Gamma(m)\Gamma(n-m)}$ . Now, simplifying (10), we have

$$f_{U}(u|v) = c \cdot \left(\frac{H(g^{-1}(u+v))}{H(g^{-1}(v))}\right)^{m-1} \left(1 - \frac{H(g^{-1}(u+v))}{H(g^{-1}(v))}\right)^{n-m-1} \\ \cdot \frac{\partial}{\partial u} \left(\frac{H(g^{-1}(u+v))}{H(g^{-1}(v))}\right)$$
(11)

for all  $-\infty < v < \infty$  and u > 0, where  $c = \frac{\Gamma(n)}{\Gamma(m)\Gamma(n-m)}$ . Since U and V are independent and using Lemma 2.1, we see that

$$q(u,v) = \frac{H\bigl(g^{-1}(u+v)\bigr)}{H\bigl(g^{-1}(v)\bigr)}$$

is a function of u only. Thus we get

$$\frac{H(g^{-1}(u+v))}{H(g^{-1}(v))} = T(u)$$
(12)

where T(u) is a function of u only. Letting  $v \to 0$ , so  $g^{-1}(v) \to 0$  and  $H(g^{-1}(v)) \to 1$ , we get  $T(u) = H(g^{-1}(u))$  from H(0) = 1. Then, we obtain

$$H(g^{-1}(u+v)) = H(g^{-1}(u))H(g^{-1}(v))$$
(13)

for all u > 0 and  $-\infty < v < \infty$ .

By the theory of functional equation (see Aczel [1]), the only continuous solution of (13) with boundary conditions  $F(\alpha) = 0$  and  $F(\beta) = 1$  is

$$F(x) = exp(-e^{-g(x)}) \tag{14}$$

for all  $-\infty < g(x) < \infty$ .

This completes the proof.

Applying with appropriate choice of g(x) in Theorem 2.2, we have the following remark 2.1.

**Remark 2.1.** If we set  $g(x) = x, -\infty < x < \infty$  and k = 1, then independent of  $X_{L(m)} - X_{L(n)}$  and  $X_{L(n)}$  characterizes Gumbel distribution in Jin and Lee [4].

## **3.** Characterization of distributions $F(x) = e^{g(x)}$

For proving our Theorem 3.2, we need the following Lemma 3.1.

**Lemma 3.1.** Let  $\{X_n, n \geq 1\}$  be a sequence of independent and identically distributed random variables each distributed identically with an absolutely continuous cdf F(x) and pdf f(x) on the support  $(\alpha, \beta)$ , where  $\alpha$  and  $\beta$  may be finite or infinite. Let g(x) be an increasing and differentiable function with  $g(x) \to -\infty$  as  $x \to \alpha^+$  and  $g(x) \to 0$  as  $x \to \beta^-$  for all  $x \in (\alpha, \beta)$ . Suppose that  $\left(\frac{F(g^{-1}(u+v))}{F(g^{-1}(u))}\right)^k = e^{-k \cdot q(u,v)}$  and  $h(u,v) = \left(k \cdot q(u,v)\right)^r e^{-k \cdot q(u,v)} \times \left(\frac{\partial}{\partial v}k \cdot q(u,v)\right)$ , for  $r \geq 0$  and  $k \geq 1$ , where  $h(u,v) \neq 0$  and  $\frac{\partial}{\partial v}k \cdot q(u,v) \neq 0$  for any positive u and v. If h(u,v) is independent of u, then  $k \cdot q(u,v)$  is a function of v only.

Proof. Let

$$h(u,v) = \left(k \cdot q(u,v)\right)^{r} e^{-k \cdot q(u,v)} \left(\frac{\partial}{\partial v} k \cdot q(u,v)\right)$$
  
$$= \sum_{j=0}^{\infty} \frac{(-1)^{j}}{j!} \left(k \cdot q(u,v)\right)^{j+r} \left(\frac{\partial}{\partial v} k \cdot q(u,v)\right).$$
 (15)

Since h(u, v) is independent of u, we obtain

$$h(u,v) = \sum_{j=0}^{\infty} \frac{(-1)^j}{j!} \left( k \cdot q(u,v) \right)^{j+r} \left( \frac{\partial}{\partial v} k \cdot q(u,v) \right) = t(v).$$
(16)

Integrating (16) with respect to v, we get

Hyun-Woo Jin

$$\int h(u,v)dv = \sum_{j=0}^{\infty} \frac{(-1)^j}{j!} \frac{1}{(j+r+1)} (k \cdot q(u,v))^{j+r+1}$$

$$= \int t(v)dv + c = T(v).$$
(17)

Here T is a function of v only and c is independent of v but may depend on u.

Now taking  $v \to 0$ ,  $k \cdot q(u, v) \to 0$ , we have c independently of u from (17). Differentiating (17) with respect to u, we get

$$\frac{\partial}{\partial u}T(v) = \sum_{j=0}^{\infty} \frac{(-1)^j}{j!} \left(k \cdot q(u,v)\right)^{j+r} \left(\frac{\partial}{\partial u}k \cdot q(u,v)\right)$$

$$= t(v) \left(\frac{\partial}{\partial v}k \cdot q(u,v)\right)^{-1} \left(\frac{\partial}{\partial u}k \cdot q(u,v)\right) = 0.$$
(18)

Now we know  $t(v) \neq 0$  and  $\frac{\partial}{\partial v} k \cdot q(u, v) \neq 0$ , so we must have

$$\frac{\partial}{\partial u}k \cdot q(u,v) = 0. \tag{19}$$

Hence  $k \cdot q(u, v)$  is a function of v only.

This completes the proof.

**Theorem 3.2.** Let 
$$\{X_n, n \ge 1\}$$
 be a sequence of independent and identically  
distributed random variables each distributed identically with an absolutely con-  
tinuous cdf  $F(x)$  and pdf  $f(x)$  on the support  $(\alpha, \beta)$ , where  $\alpha$  and  $\beta$  may be finite  
or infinite. Let  $g(x)$  be an increasing and differentiable function with  $g(x) \to -\infty$   
as  $x \to \alpha^+$  and  $g(x) \to 0$  as  $x \to \beta^-$  for all  $x \in (\alpha, \beta)$ . Then  $F(x) = e^{g(x)}$   
for all  $-\infty < g(x) < 0$ , if and only if  $g(X_{L(n)}^{(k)}) - g(X_{L(m)}^{(k)})$  and  $g(X_{L(m)}^{(k)})$  are  
independent for  $1 \le m \le n$ .

*Proof.* If  $F(x) = e^{g(x)}$ , then it is easy to see that  $g(X_{L(n)}^{(k)}) - g(X_{L(m)}^{(k)})$  and  $g(X_{L(m)}^{(k)})$  are independent for  $1 \le m < n$ .

Let us use the transformation  $U = g(X_{L(m)}^{(k)})$  and  $V = g(X_{L(n)}^{(k)}) - g(X_{L(m)}^{(k)})$ . The Jacobian of the transformation is  $J = \frac{\partial}{\partial u} (g^{-1}(u)) \cdot \frac{\partial}{\partial v} (g^{-1}(u+v))$ . Since g(x) is an increasing and differentiable function, both  $\frac{\partial}{\partial u} (g^{-1}(u))$  and  $\frac{\partial}{\partial v} (g^{-1}(u+v))$  are positive. Thus we can write the joint pdf  $f_{U,V}(u,v)$  of U and V as

$$f_{U,V}(u,v) = \frac{k^n}{\Gamma(m)\Gamma(n-m)} \left( H(g^{-1}(u)) \right)^{m-1} h(g^{-1}(u)) f(g^{-1}(u+v)) \cdot \left[ F(g^{-1}(u+v)) \right]^{k-1} \left( H(g^{-1}(u+v)) - H(g^{-1}(u)) \right)^{n-m-1} \qquad (20) \cdot \frac{\partial}{\partial u} (g^{-1}(u)) \frac{\partial}{\partial v} (g^{-1}(u+v))$$

for all  $-\infty < u < 0$  and v < 0, where H(x) = -lnF(x) and  $h(x) = -\frac{d}{dx}H(x)$ . The pdf  $f_U(u)$  of U is given by

$$f_U(u) = \frac{k^m H(g^{-1}(u))^{m-1}}{\Gamma(m)} f(g^{-1}(u)) \frac{\partial}{\partial u} (g^{-1}(u)) [F(g^{-1}(u))]^{k-1}$$
(21)

for all  $-\infty < u < 0$  and  $m \ge 1$ .

From (20) and (21), we can get the conditional pdf of  $f_V(v|u)$  as

$$f_{V}(v|u) = \frac{k^{n-m} \left( H(g^{-1}(u+v)) - H(g^{-1}(u)) \right)^{n-m-1}}{\Gamma(n-m) [F(g^{-1}(u))]^{k} [F(g^{-1}(u+v))]^{1-k}} 
\cdot f(g^{-1}(u+v)) \frac{\partial}{\partial v} (g^{-1}(u+v)) 
= c \left( -k \cdot ln \frac{F(g^{-1}(u+v))}{F(g^{-1}(u))} \right)^{n-m-1} \left( \frac{F(g^{-1}(u+v))}{F(g^{-1}(u))} \right)^{k} 
\cdot \left( -\frac{\partial}{\partial v} \left( -k \cdot ln \frac{F(g^{-1}(u+v))}{F(g^{-1}(u))} \right) \right),$$
(22)

for all  $-\infty < u < 0$  and v < 0, where  $c = \frac{1}{\Gamma(n-m)}$ . Since U and V are independent and using Lemma 3.1, we see that  $k \cdot q(u, v) = -ln \left( \frac{F(g^{-1}(u+v))}{r(u-1(v))} \right)^k$  is a function of v only. Thus

$$(\frac{F(g^{-1}(u))}{F(g^{-1}(u))})^{k} = T(v)$$

$$(23)$$

where T(v) is a function of v only. Letting  $u \to 0^-$ , so  $g^{-1}(u) \to \beta$  and  $F(g^{-1}(u)) \to 1$ , we get  $T(v) = (F(g^{-1}(v)))^k$  from  $F(\beta) = 1$ . Then, we get

$$\left(F(g^{-1}(u+v))\right)^{k} = \left(F(g^{-1}(u))\right)^{k} \left(F(g^{-1}(v))\right)^{k}$$
(24)

for all  $-\infty < u < 0$  and v < 0.

The equation (24) is equivalent to

$$F(g^{-1}(u+v)) = F(g^{-1}(u))F(g^{-1}(v))$$
(25)

for all  $-\infty < u < 0$  and v < 0.

Applying with appropriate choice of g(x) in Theorem 3.2, we have the following remarks.

**Remark 3.1.** If we set  $g(x) = -e^{-x}$ ,  $-\infty < x < \infty$  and k = 1, then independent of  $e^{-X_{L(n)}} - e^{-X_{L(m)}}$  and  $e^{-X_{L(m)}}$  characterizes Gumbel distribution in Skřivánková and Juhás [8].

**Remark 3.2.** If we set  $g(x) = -x^{-\alpha}$ ,  $0 < x < \infty$  and k = 1, then independent of  $(X_{L(n)})^{-\alpha} - (X_{L(m)})^{-\alpha}$  and  $(X_{L(m)})^{-\alpha}$  characterizes Fréchet distribution in Skřivánková and Juhás [8].

**Remark 3.3.** With suitable choice of g(x), various distributions may be characterized as given in Table 1.

Distribution	$\mathbf{g}(\mathbf{x})$	$\mathbf{F}(\mathbf{x})$
Burr type II	$ln(1+e^{-x})^{-\theta}$	$(1+e^{-x})^{-\theta}, \ -\infty < x < \infty, \ \theta > 0$
Burr type III	$ln(1+x^{-\theta})^{-\theta}$	$(1+x^{-\theta})^{-\lambda}, \ 0 < x < \infty, \ \theta > 0$
Pareto	$ln(1-x^{-\theta})$	$1 - x^{-\theta}, \ 1 < x < \infty, \ \theta > 0$
power	$ln(x^{\theta})$	$x^{\theta}, \ 0 < x < \infty, \ \theta > 0$
Weibull	$ln(1-e^{-x^{\theta}})$	$1 - e^{-x^{\theta}}, \ 0 < x < \infty, \ \theta > 0$

TABLE 1. Examples based on the distribution function  $F(x) = e^{g(x)}$ 

**Conflicts of interest** : The author declares no conflict of interest.

Data availability : Not applicable

**Acknowledgments** : The author would like to thank the referees for their valuable comments which helped to improve the manuscript.

### References

- 1. J. Aczél, Lectures on Functional Equations and their Applications, Academic Press, New York and London, 1966.
- M. Ahsanullah and V.B. Nevzorov, *Record via Probability Theory*, Atlantis Press, Paris, 2015.
- W. Dziubdziela and B. Kopociński, Limiting properties of the k-th record values, Appl. Math. 15 (1976), 187-190.
- H.W. Jin and M.Y. Lee, A note on the characterizations of the Gumbel distribution based on lower record values, J. of Chungcheong. Math. Soc. 30 (2017), 285-289.
- H.W. Jin and M.Y. Lee, On characterizations Of Continuous Distributions By Independence Property Of The Quotient-Type k-th Lower Record Value, Appl. Math. E-Notes 21 (2021), 610-614.
- M.I. Khan and M. Faizan, Characterization of distribution by conditional expectation of lower record values, American Journal of Applied Mathematics and Statistics 2 (2013), 7-9.
- J. Paul, On Generalized Lower (k) record Values arising from Power Function Distribution, Journal of the Kerala Statistical Association 25 (2014), 49-64.
- V. Skřivánková and M. Juhás, Characterization of standard extreme value distributions using records, J. of Chungcheong. Math. Soc. 24 (2011), 401-407.

P.Y. Thomas and J. Paul, On Generalized Lower (k) record values from the Fréchet distribution, J. Japan Statist. Soc. 44 (2014), 157-178.

**Hyun-Woo Jin** received Ph.D. degree from Dankook University. Currently, he is working as a senior data scientist at CJ AI Center, Republic of Korea, since 2022. His research interests include characterizations of distribution and Artificial intelligence.

CJ AI Center, Seoul, Republic of Korea. e-mail: hwjean87@gmail.com